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The results of Mendel's cross involving true-breeding pea plants with u.h.\s.h 5._..5.\:3\ dalas ili oLl JSEN (s
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chromosomes that are physically bound JoY) el el A AL Al oL Laa
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meiosis, which produces gametes. When gametes combine CL&Y\ Jdadl g CL:.«S’\ — q,-.‘m wlalall aludly)

in fertilization, the number of chromosomes Wi ) Slagurgag S gt cliad) Ades
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In the figure below, the sexual life cycle in human involves el Glud¥) (8 duiall Slal) 5;9a colial JS&b)
meiosis, which produces gametes. When gametes combine cl&&\ dadl Xey GLL.S'\ — 42\!\ whalall aletiy)
in fertilization, the number of chromosomes Ba ) Slagurgag S g iliad) ddes

are restored. What do the letters (B), (D) refer to? ?(D) «(B) dadl adl udl N .‘_,.La‘i\
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Observe the cell labeled (X) in the figure below containing (4) Ao gy Al olisl S o (X)3lawsal aalall BaY
laada Jia3 WL w‘\ﬁ LAY (e 43 (Clagusag S (4)
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chromosomes. Which of the four cells below represents

a healthy gamete that could be produced from this cell?
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What is the probability of a couple giving birth to three boys in a row?
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Based on the figure below. ol JSAN ) alinad
Which letter of the following indicates an organism for which  4sgasall a3 O3% & SIS A sl i e i ¢

A polyploidy is useful? Cauda oLAS doa gusgag S




Which of the following statement is incorrect?
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* | The illustration below shows one way cancer Oy g Sl of oSa Al @l gaa] O A

can spread from one body part to another. ) 2 Al ea o
Which letter of the following indicates cancer cells? Cagilhpn WA ) Juds o e s ‘5‘




Based on the diagram below that indicates normal Cell AN daadal) 5y 9al) ) sads () oLl Al L) Haline |
Cycle. at which stage of the following does the combination BLEY) Juialll— il dus s u.ha..u.\.. Las 4ls sa L;i ‘_,a |
of cyclin with CDK signal the start of the cell cycle? Caulal) 5y 90 o |
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The figure below shows the phases of mitosis, study it e cal o dul ((Gobudall AL gkl ¢ oliaf JSAY |
and answer the question: g

Which letter of the following indicates Metaphase? Slgia) gl A jade A laa s ‘53
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In the figure below, which letter of the following dagiall ) sady A laa Gija gi colial JSa) o

indicates the cell plate? Taglal)
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The figure below shows the spindle apparatus. (rall jlgadl aligga (o colial JS&I
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In the figure below, the cell cycle involves three tJalia SN A4 5) g8 Cpaali colial JSEN 3

stages—interphase, mitosis, and cytokinesis. )il aludiVly (Gyludall aludiVly Al ) skl
Interphase is divided into three substages. In which Aasd Jaba SO ) Al ) ghal) ading

stage of the following does a cell prepare for mitosis? T Soluiall alulidU Add)) 4d ails o Laa dla e @ o
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The figure below shows some phases of meiosis, study A dociydl cClaial) aludi¥) gkl s s olial JSEN

it and then answer the following question: Al Jlaad) o5 al
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